
Our relative is paying 50%

£1770.01 ÷ 2 = £885.01 

Remaining balance £1770.01 - £885.01   = £885

Stage 3

This is how much money you need to 
contribute.



I am going to sell two items costing £284.99 and £130.00. 

This raises £414.99 towards the cost of the holiday. 

Remaining balance £885 – £414.99 = £470.01 



Job Title Rate of Pay

Dog Walking £5 per hour

Babysitting (siblings) 2 hours max £4 per hour

Car Washing £5 per car

Pot Wash (restaurant/café) £6 per hour

Newspaper Round £10 a week

Cleaning £6 per hour 

Possible jobs to earn money:



I now have to earn £470.01 to afford the holiday.

There are 38 weeks until I am due to fly so I need to earn at least (£470.01 ÷ 38 = £12.37) £12.37 per week.

I will cover the cost by delivering papers and washing one car per week.

£10 + £5 = £15 per week

Over 38 weeks, I would have earned £15 x 38 = £570


